Dividing by Multiples of Positive Powers of Ten (C)

Name: Date:

Divide each number by multiples of positive powers of ten.

264+~ 8 = 522 =9 =

264 = 80 = 522 +90 =
264 = 800 = 522 + 900 =
264 = 8000 = 522 + 9000 =
264 + 80,000 = 522 + 90,000 =
819 = 9 = 57 =3 =

819 ~ 90 = 57 =30 =
819 ~ 900 = 57 =300 =
819 = 9000 = 57 = 3000 =
819 = 90,000 = 57 = 30,000 =
130 + 2 = 252 = 6 =

130 = 20 = 252 = 60 =
130 =200 = 252 = 600 =
130 =+ 2000 = 252 = 6000 =
130 <+ 20,000 = 252 + 60,000 =
78 = 6 = 164 +2 =

78 = 60 = 164 + 20 =

78 — 600 = 164 + 200 =

78 +~ 6000 = 164 + 2000 =

78 = 60,000 = 164 + 20,000 =
146 = 2 = 98 = 2 =

146 + 20 = 98 = 20 =
146 <+ 200 = 98 = 200 =
146 =+ 2000 = 98 = 2000 =
146 <+ 20,000 = 98 = 20,000 =
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Dividing by Multiples of Positive Powers of Ten (C) Answers

Name: Date:

Divide each number by multiples of positive powers of ten.

264+ 8= 33 522 +9 = 58
264 =80 = 33 52290 = 5.8
264 <+ 800 = 0.33 522 <900 = 0.58
264 8000 = 0.033 522 <9000 = 0.058
264 <+ 80,000 = 0.0033 522 --90,000 = 0.0058
819 +-9 = 91 57 +3= 19
819 +90 = 9.1 57 +30= 1.9
819 = 900 = 0.91 57 <300 = 0.19
819 = 9000 = 0.091 57 = 3000 = 0.019
819 + 90,000 = 0.0091 57 <+ 30,000 = 0.0019
130 =2 = 65 252+ 6= 42
130 =20 = 6.5 252+ 60 = 4.2
130 =200 = 0.65 252 =+ 600 = 0.42
130 + 2000 = 0.065 252 < 6000 = 0.042
130 = 20,000 = 0.0065 252+ 60,000 = 0.0042
78+ 6= 13 164 +2 = 82
78 +60 = 1.3 164 +20 = 8.2
78 = 600 = 0.13 164 + 200 = 0.82
78 = 6000 = 0.013 164 + 2000 = 0.082
78 + 60,000 = 0.0013 164 + 20,000 = 0.0082
146 + 2 = 73 98 + 2 = 49
146 +20 = 7.3 98 + 20 = 4.9
146 +200 = 0.73 98 + 200 = 0.49
146 + 2000 = 0.073 98 + 2000 = 0.049
146 + 20,000 = 0.0073 98 + 20,000 = 0.0049

Math-Drills.com




